Algebra 2

Standards Review Worksheet — Q3
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1. Functions:

Given: f(x)= 3x+5 and
glx)=x*+3andh(x) =x-5

EX: Find: (f + g)(3)
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EX: Find: (f - g9)(—2)
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EX: Find:
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1. Given: f(x) = 3x+5 and
gx) = x*+3andh(x) =x -5

a) Find: (g + h)(4)

Ith = (41)4 (x-5)
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a) Find: (g - h)(2)
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a) Find:

f(2) +9(=2) + h(4)
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2. Given: f(x)= 3x+5 and
gx)= x> +3andh(x)=x-5

b) Find: (f — h)(—2)
C-h= (3x45)- (x-5)
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b) Find: (f - h)(=3)
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b) Find: [

F(=1) - g(2) +h(-2)
(3(-045) - (*42)+ (-2-5)
=A-74+ "7
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(1. Functions Continued)

EX: Find f(g(2) =
Larh ﬁ.\o_j,.ﬂﬁo.v ()
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b Find ¢(7(2)) = o( £ [2))
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2. Graphing:
Quadratics, Absolute

Value, etc.

Graph. Label Vertex and 2 other points.

EX;: y= 4|x+2|-3
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Graph. Label Vertex and 2 other points.

Graph. Label Vertex and 2 other points.
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] 1 2 Label Vertex and 2 other points. b) y=—3(x+2)2+5
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Graph. Label Vertex and 2 other points.
b) y>-2|x-3|-1
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Graph. LabelVertex and 2 other points.




3. Simplifying imaginary
numbers.

Simplify:
EX: (—2i'%)(3i%)(4i%)(-2i33)
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Simplify:
a) (3i)(3i*°)(—i")(4i%%)
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Simplify:
b) (=2i%)(-5i"*)(-2i'%)(4i*®)
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4. Finding
zeros/roots/solutions
of a function.
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EX: Find the zeros of the function.
x2-2x-15=y

V-qx-1520

(1-9) (¥ +3)=0
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EX: Find the roots (real or complex).
3x2—x+5=0
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a) Find the zeros of the function.
6x2+14x+8=y
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EX: Find the roots (real or complex).
2x2+4x+1=0
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b) Find the zeros of the function.
x3 +4x2-21x =y

Y3r4x2-ly=0
X Y2 +9x 2= 0
¥ (x eF)(x-3)= 0

EX: Find the roots (real or complex).
16x%2—-36x+1=0

= 36+ V1296 - 4(18)(1)
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5. Factoring
Polynomials

EX: Factor: 48h° — 3h
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EX: Factor: 9m* — 4
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EX: Factor: 8 — 3
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a) Factor: 81 — 4x2
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a) Factor: 64m3 — 125
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a) Factor: 8x3 + 125
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b) Factor: x* — 16x?
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b) Factor: 1 —8y3
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b) Factor: 64 + m3
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6. Operations on
Polynomials

Long Division:

Synthetic Division:
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EX: (x*+x2-3x+5)+(x+2)
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Numbers

EX: (5 — 3)(2 + 4i)
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a) (6+6i)(2-3i)
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b) (4+20)(3 - 3i)
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Expressions with Integer
Exponents
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EX: A 4x3y~4z v
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9. Simplifying Radical
Expressions

a) /8x5y10z2
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b) b) Y16aéh9c8
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10. Pascal’s

Triangle/Binomial

Theorem

EX: Find the 3" term
of (2x +3)*
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a) Find the 3rd term of (4 — 2x)°>
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b) Find the 4™ term of
(3x — 4)®
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